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Chemistry 19 Advanced €3 Mr. Hesham Eltoukhy

Ions

positive —— cation J

l Ion Charge

negative anion
, monoatomic one type of atoms |
’ Types of ions . - - ;
' polyatomic two or more types of atoms |
sodium [ calcium
Na+ ‘ i Caz+
. - -\ .
lithium | potassium ‘ magnesium strontium
— Li+ | . K+ " Mg2* | Sp2+
———— ,. +2
hydrogen :r : rubidium _ j
H* ) Rb™ zinc barium [+3 I
Zn2t Ba2t : | ~.
silver cesium  cadmiam aluminum |
Ag* ast | car AP

chloride ‘ oxide ‘
cr l 0r
" bromide || fluoride |
[ Bi ’L‘l]i F- ‘ = (3]
iodide \i sulfide nitride
Is S2- N*~
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Chemistry 19 Advanced €3 Mr. Hesham Eltoukhy

Polyatomic ions
" nitrite | | sulfite [ chromate ‘
NO,~ | SO Cro2 |
49 El_, [ _ﬂ ‘sz
A e, N
[ asubomis | nitrate sulfate dichromate |
NHS NO;” | SO Cr,0,” |
chlorite bromite
Clo,” BrO,”
hypochlorite 1 chlorate 1 hypobromite 1 ' bromate |
Cl10™ Cl0;” | BrO~ _ BrO;~

, perchlorate ( perbromate w
ClOoS~ BrO,”

iodite
10,
— Y
hypoiodite N—I iodate 1
10, j— 10, |

. ( hydrogen [ carbonate
| pe;l(';d_ate _carbonate HCO;™ T =
P - ’
A_\I
acetate '
CH,;COO™ L

permanganate ] hydroxule

—

MnO,

phosphate

PO

- ~ = [ peroxide \' cyamde

dihydrogen ' hydrogen ' 0%

phosphate ‘ phosphate ‘

i\ H,PO, ) HPO ) \( arsenate ]/
\_/ AsOF
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1) Lithium nitrite 2) Calcium bromide
3) Sodium sulfate 4) Magnesium carbonate
5) Ammonium chlorite 6) Potassium acetate
7) Copper (I) sulfide 8) Barium nitrate
9) Strontium cyanide 10) Aluminum chromate
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1) ALO; 2) Li>SO;3
3) KCN 4) Zn(OH),
5) NalICOs 6) Ca(ClOy);
7) Mg(NO>), 8) AIPO,
9) (NH4):S 10) BaCr:0-

0543551245 | 4 |Preparation and Revision e}




C + H — CsHs

NZ = = Hz —> I\II—I3

KClOs — KClI + O

HCl + MgOH) — MgCh + HO

CiHipo + O N CcO, + H,O

Zn + HNO; — Zn(NO3); + H;
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Chemistry & 19 Advanced Mr. Hesham Eltoukhy

particles +6.0x10%
(atom-
molecule-
ion- formula
unit) x6.02x10%

~
7 o

B

\

How many moles are in 0.25 kg H,0?

(H20 = 18 g/mol)

/

Y

How many moles are in 5.75x10%*

atoms of Al1? (Na = 6.02x10%%)

\ /

xmolar mass

~molar mass

N
.~

What is the mass (g) in 34.5 mol of
Zn? (Zn = 65.4 g/mol)

\

\

How many molecules of 11.5 mol of

CO,? (Na = 6.02x10%)

4
.

Vi
f

How many grams are in 1.50x10%° atoms in N? (N4 = 6.02x10%%) (N = 14 g/mol)

VA

.
/

\

How many atoms are in 11.5 g of Mn? (N4 = 6.02x10%*) (Min = 55 g/mol)

&
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Chemistry & 19 Advanced Mr. Hesham Eltoukhy

Using the calculator
200 =15 x (X — 2.5)
57
\
2.8x10*=2Y + 3.15
4
Converting between units
x1000 x1000
gy ' < <t < ot mg
mass : =1000 = S =1000
[ kilogram ] [ gram ] L milligram }
x1000 x1000
distance - +1000 +1000 :
kilometer I [ meter ] [ millimeter ‘
x1000 %1000
N cm?®/
< - < mL
. - =1000 =1000

cubic meter }

(=)

L

cubic centimeter
/ milliliter
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Chemistry & 12 Advanced €3 Mr. Hesham Eltoukhy

1) Which of the following represents an ion with a charge of x = 2+?

a. PO
b. O;*
c. Ca*
d. ¥
2) Which of the following represents an ion with a charge of x =2-?
a. Mg*
b. HCOs®
€. A"
d. OF

3) What is the charge of the ion that has the formula: SO3*?

a.x=+1
b.x=+2
c.x=-1

d.x=-2

4) What is the charge of the ion that has the formula: BrO>*?
a.
b.
£.
d.
5) What is the name of the ion that has the formula: S*2
a. sulfide
b. sulphate
c. sulfite

d. sulfur
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6) What is the name of the ion that has the formula: NO3;™?

a. nitrogen
b. nitride
c. nitrite
d. nitrate
7) Which of the following is not a group 1 element in the periodic table?
a. Li

b. B

d. Rb
8) Which of the following is an element in group seventeen of the periodic table?
a. P
b. He
c. Br
d. Sr
9) Which of the following materials represents an element?
a. CH;COOH
b. NH4NOs3
c. H,O»
d. Zn
10) How does the next ion form: Ba’*?
a. lose 1 electron
b. lose 2 electrons

c. gain 1 electron

d. gain 2 electrons
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11) Which of the following formulas represents the compound: aluminum carbonate?

a. Al;(CO:s):
b. AL(CO3):
c. AI(CO3)s
d. AL(CO3)3
12) What is the correct name of the compound: Fe(NO3),?
a. iron (IIT) nitrate
b. iron (II) nitrate
c. iron (III) nitrite
d. iron (II) nitrite
13) How can the following equation be balanced: Na + H>O — NaOH + H»?
a. Na + 2H>O — NaOH + H»
b. 2Na + H,O — 2NaOH + H»
c. Na + 2H,O — NaOH + 2H;
d. 2Na + 2H,O — 2NaOH + H»
14) What is the mass in grams in 1.35 mol of NaxCr:07? (Na:Cr207 = 261.97 g/mol)
a.353.66 ¢
b. 19405 g
€. 5.15x103 g
d.261.97 ¢
15) How many moles are in 4.88x10** atoms of Ag? (Na = 6.02x10%)
a. 1.35 mol
b. 8.10 mol
c. 10.9 mol

d.1.23 mol
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16) How many atoms are in 74 g¢ Cr? (Na = 6.02x10%%) (Mn = 52 g/mol)

a. 8.57x10% atoms
b. 8.57x10* atoms
c. 4.23x10* atoms
d. 4.23x10* atoms
17) What is the mass in grams in 1.25x10°* atoms of Ne?
(Ns = 6.02x10%) (Ne = 20.18 g/mol)
a.9722 g b.9.72 g
c.4189 ¢ d.41.89¢g
18) What is the value of X in the following calculation?
1.2 x08x(42-X)=-0.75%0.129 x (X -5)
a. 38.61
b. 46.15
c.42.89
d.41.32
19) Do the following conversion: 3.75x10* mL — L?
a.3.75x10° L
b. 3.75x1073 L,
€. .75 L
d. 0.375 L
20) Do the following conversion: 8.16x10™* Kg — mg?
a. 816 mg
b. 8.16 mg
c. 8.16x107 mg

d. 8.16x107° mg
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